E/X Position Order ID Name Commissio Rate

Instrument  Action Qty Price Time ID
6E 06-12 Sell 1 13123 19/04/2012 9:18:41 | f5a48b38f Exit b4aB%b61 Stop2 $2.50 1
6E 06-12 Sell 2 13132 19/04/2012 9:10:53 | ee7b07a% Exit L 4e97ba7a | Targetl $5,00 1
6E 06-12 Buy 3 13128 19/04/2012 9:10:23 | ab56f6c52 Entry 3L e65fd7334 Entry $7.50 1
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As you can see the price never reached the price where the Stop was, in 1,3123

But the trade was closed, why?

And if, maybe, you can say that the stop was in 1,3124, why this operation cost me more?



6E 06-12 Buy 1 13195 | 20/04/2012 13:28:48 | 7cf45bdf6 Exit - b22c98c4 Stop2 $2.50 1
6E 06-12 Buy 2 13195 | 20/04/2012 13:28:48 | 3a8cdbcl Exit 1S 5692df306 Stop1 $5.00 1
6E 06-12 Sell 3 13186 | 20/04/2012 13:25:04 | 2dSdal116 Entry 3s b0df83366 Entry $7.50 1
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Time remaining = 00:00:49

Same situation, but worse consequences for me in this trade.

Nothing more to say.





